«

S.D.

R !

R2 I (Coefficient of Determination)
F F (Overall F-test)

B , !

Beta



© 2528)

4.50-
2.50-
1.00-

3.00-
2.00-
1.00-

2.50-
1.50-
1.00-

6.00
4.49

4.00
2.99

as
3.00
2.49
1.49

3.50-4.00
2.50-3.49
1.50-2.49
1.00-1.49

am

2.49

1.99

« i ! !

d

am

77



4.00-5.00
2.00-3.99
1.00-1.99



20-29
30-39
40

106
10
24

129
12

80
57
31
19
13

53
35
12

64.2
35.8

40.00
28.50
15.50
9.50
6.50



tf
53.00
12.00
35.80

15.50
6.50

40

40

80

i

20-29 3 %

«

64.20

28.50
9.50



2.93

3.69
3.38
3.17
3.10
3.11
2.71
2.68
2.52
2.51
2.44

2.93

(N = 200)

SD.

0.75
0.70
0.75
0.87
0.57
0.80
0.76
0.84
0.95
1.04

0.33

81



2.00

3.17
2.79
2.54
1.51

2.00

SD.

0.98
1.56
0.92
0.80

0.51

82



(N = 200)

«

a 3.59

3.82
3.81
3.17
3.75
3.64
3.50
3.40
3.49
3.42
3.21

3.59

SD.

0.49
0.42
0.50
0.49
0.74
0.72
0.67
0.84
0.76
0.57

0.24

83



(N = 20)

3.28
3.21
3.10
3.07
2.83

3.10

SD.

0.66
0.57
0.83
0.70
0.82

0.43

3.10

84



(N = 200)

]

3.52
3.39
3.38
3.14
2.74
2.11

2.59
2.96

2.23

2.10

2.84

SD.
0.78
0.83
0.71
0.79
0.68
0.81

1.01
0.68

0.77

1.01

0.48
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2.84
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10

(N = 200)

3.17

3.52
3.49

3.18
3.05
2.63

3.17

f

SD.

0.74
0.78

0.81

0.85
0.90

0.49

87



11

2.87

tf

(N = 200)

3.75
3.62
3.12

2.30
1.58

2.87

SD.
0.58
0.72
0.65

0.88
1.06

0.47

88
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If ?

12 (N = 200)

2.99
3.00

3.59
3.7
3.10
2.93
2.84
2.00

3.00

2.87

2.99

0.24
0.49
0.43
0.33
0.48
0.51

0.24

0.47

0.25

2.67
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13

(4.50-6.00)
(2.50-4.49)
(1.00-2.49)

|
(4.50-6.00)

(2.50-4.49)
(1.00-2.49)

(4.50-6.00)
(2.50-4.49)
(1.00-2.49)

(3.00-4.00)
(2.00-2.99)
(1.00-1.99)

158
40

200

162
200

2
141

200

153
41

200

79.00
20.00
1.00
100.00

1.00
18.00
81.00

100.00

10.50
70.50
19.00
100.00

76.50
23.50

100.00
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81.00
76.50

B()

56.50

»

(2.50-3.00)
(1.50-2.49)
(1.00-1.49)

(4.00-5.00)
(2.00-3.99)
(1.00-1.99)

85.50

ffnifwri |

85
113

200

19

171

10
200

79.00

42.50
56.50
1.00
100.00

9.50
85.50
5.00
100.00

70.50



«
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as 4.95

3.13

6.00
6.00
6.00
4.00
3.00
5.00

4.95
1.89
3.35
3.13
2.40
3.12

3.35, 2.40

SD.

0.67
0.83
0.90
0.34
0.33
0.62

3.12

1.89

92



5? a
15
3 7
I
I
I
!
]
[} P < IOl
' I
I a ¥
a 01
I 17 1

125

-120

055
. 343

I318“ u

({1}

. 304

289"

W

. 205

g
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R)

(R2 change)
Stepwise Solution

P < .01

R

L3433
4646
D318
5494

1178 (R2 = .1178)

2
2158 (R2 = .2158)
01

3
12828 (R2 = . 2828)

| (R2)

R2

1178
2158
. 2828
3018

R2 change

1178
.0980
0670
.0190

9.80 (R2 change = .0980)

F

24.71355%
25.32069**
24.05731*
19.66617*

01

11.78

21.58
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28.28

{«

01

9

6.70 (R2 change = .0670)

{« !
3018 (R2 = .3018)
01
!
30.18
1.90 (R2 change = .0190)
f [« 4
{« {
f« 4
{«
%

01



17 ®)

(Beta) B «
h P
i Beta B SE b t
(AGE) 3169 0112 22035 5.082“*
(IS) 3045 1211 0247 4,914
« (S 2618 1916 0456 4.200""

(HLC2)  -1378 -.0438  .0197 - 2. 202"

R = 5494 S.E. .2101
Rz = 3018 constant 1.7484
Overall F = 19.6662**
P< 01
I (Beta)
! Beta (Beta = .3169)
(Beta = .3045) l« (Beta =.2618)

| (Beta = -. 1378)



1.7484 + 0112 AGE + 1211 IS + 1916 SE - .0438 HLC2

3169 AGE + .3045 IS + 2618 SE - .1378 H.2
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